



Tên: \_\_\_\_\_

Ngày tháng: \_\_\_\_\_ Điểm: \_\_\_\_\_

$$\left(\left(\frac{1}{3}\right)^2 - \frac{1}{2}\right) \times \frac{1}{5} + \left(\frac{1}{2} - \frac{1}{2}\right)^2 =$$

$$\left(\frac{3}{2} - \frac{2}{3}\right)^2 + \frac{1}{2}\left(\frac{1}{4} + \frac{1}{2}\right) =$$

$$\left(\frac{1}{2} - \frac{2}{3}\right)^2 + \frac{1}{5}\left(\frac{1}{5} + \left(\frac{3}{5}\right)^2\right) =$$

$$\left(\frac{1}{2} + \left(\frac{3}{5}\right)^2\right) \times \frac{3}{4} + \left(\frac{1}{5} - \frac{1}{2}\right)^2 =$$

$$\left(\frac{1}{2} - \frac{3}{2}\right)^2 + \frac{3}{4}\left(\frac{1}{5} - \left(\frac{1}{5}\right)^2\right) =$$

$$\left(\frac{1}{2} + \left(\frac{3}{4}\right)^2\right) \times \frac{1}{2} + \left(\frac{1}{6} - \frac{3}{4}\right)^2 =$$

$$\left(3 + \frac{2}{3}\right)^2 - \frac{1}{2} - \frac{1}{4} + 3^2 =$$

$$\left(3 - \frac{1}{4}\right)^2 - \frac{2}{5} - \frac{2}{3} \times 2^2 =$$

$$\left(\frac{1}{2} - \left(\frac{3}{4}\right)^2\right) \times \frac{1}{3} - \left(\frac{2}{5} + \frac{1}{2}\right)^2 =$$

$$\left(4 + \frac{1}{6}\right)^2 + \frac{1}{3} \times \frac{3}{4} + 3^2 =$$



Tên: \_\_\_\_\_

Ngày tháng: \_\_\_\_\_ Điểm: \_\_\_\_\_

$$\left(\left(\frac{1}{3}\right)^2 - \frac{1}{2}\right) \times \frac{1}{5} + \left(\frac{1}{2} - \frac{1}{2}\right)^2 = \left(-\frac{7}{90}\right)$$

$$\left(\frac{3}{2} - \frac{2}{3}\right)^2 + \frac{1}{2}\left(\frac{1}{4} + \frac{1}{2}\right) = \frac{77}{72} = 1\frac{5}{72}$$

$$\left(\frac{1}{2} - \frac{2}{3}\right)^2 + \frac{1}{5}\left(\frac{1}{5} + \left(\frac{3}{5}\right)^2\right) = \frac{629}{4500}$$

$$\left(\frac{1}{2} + \left(\frac{3}{5}\right)^2\right) \times \frac{3}{4} + \left(\frac{1}{5} - \frac{1}{2}\right)^2 = \frac{147}{200}$$

$$\left(\frac{1}{2} - \frac{3}{2}\right)^2 + \frac{3}{4}\left(\frac{1}{5} - \left(\frac{1}{5}\right)^2\right) = \frac{28}{25} = 1\frac{3}{25}$$

$$\left(\frac{1}{2} + \left(\frac{3}{4}\right)^2\right) \times \frac{1}{2} + \left(\frac{1}{6} - \frac{3}{4}\right)^2 = \frac{251}{288}$$

$$\left(3 + \frac{2}{3}\right)^2 - \frac{1}{2} - \frac{1}{4} + 3^2 = \frac{781}{36} = 21\frac{25}{36}$$

$$\left(3 - \frac{1}{4}\right)^2 - \frac{2}{5} - \frac{2}{3} \times 2^2 = \frac{1079}{240} = 4\frac{119}{240}$$

$$\left(\frac{1}{2} - \left(\frac{3}{4}\right)^2\right) \times \frac{1}{3} - \left(\frac{2}{5} + \frac{1}{2}\right)^2 = \left(-\frac{997}{1200}\right)$$

$$\left(4 + \frac{1}{6}\right)^2 + \frac{1}{3} \times \frac{3}{4} + 3^2 = \frac{479}{18} = 26\frac{11}{18}$$